
前回のPCM値(-32768)

増加方向の
予測変化単位量(+24000)

減少方向の
予測変化単位量(-24000)

増加方向の予測変化量
(+24000×3.5 = +84000)

増加方向の予測変化量
(-24000×3.5 = -84000)

-32768+24000×2.5 =   27232

-32768+24000×3.5 =   51232

-32768+24000×4.5 =   75232

-32768+24000×6.5 =  123232

-32768+24000×5.5 =   99232

-32768-24000×1.5 = - 68768

-32768-24000×2.5 = - 92768

-32768-24000×3.5 = -116768

-32768-24000×4.5 = -140768

-32768-24000×5.5 = -164768

-32768-24000×6.5 = -188768

ADPCM値←15

ADPCM値←14

ADPCM値←13

ADPCM値←12

ADPCM値←11

ADPCM値←10

ADPCM値← 9

ADPCM値← 8

ADPCM値← 7

ADPCM値← 6

ADPCM値← 5

ADPCM値← 4

ADPCM値← 3

ADPCM値← 2

ADPCM値← 1

-32768+24000×1.5 =    3232

-32768+24000×0.5 = - 20768

-32768-24000×0.5 = - 44768

0


